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Al 70,758
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s 19,855
< 5,957
Al 13,899
—-xReESsY 52,3203 * 23 83| 9,627
s 4,813
[ 1,444
Al 3,370
- 23y 5,000& * 239 x 21 » 8 19,320
s 9,660
= 2,898
Al 6,762
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= 23,635
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Al 16,545
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Al 1,470
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s 1,500
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s 1,500
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Al 35,000
307 21201 A 100,000 80,000 20,000
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Al 35,000
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42 & 99,004
g 49,502
& 14,850
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307 2Iz2t0| & 40,000 50,000 A 10,000
08 OIXIE & 2 40,000 50,000 A 10,000
OAMZEHAMIIYE 2SI ALY
1,600,000,000& * 2.5% 40,000
308 XAHXIEHMSOIA 40,000 0 40,000
1122 SUHUSHEAEAE A Y| 40,000 0 40,000
O8EXNILHH 2 40,000
2ZolAl Al EZ2SHALAEH 2H 65,160 71,560 N 6,400
201 LBt 57,960 63,560 A5,600
01 AP 22| H| 16,960 16,960 0
OAREE < DI =24 500,000 = 12 6,000
O=2AD A2 (20h) 380,0008 = 12€ 4,560
O==E=2 M2 4,000
OMSEHAME0F HEZ XISASH
100,000& = 23 = 128 2,400
02 23244 36,600 31,000 5,600
Oo=2222 S 1,300,000& * 12& 15,600
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OFAUY 29 1,500,000& = 1€ » 12& 18,000
OZHOIX |A B4 2,000
03 Al HH| 4,400 15,600 A 11,200
Ous2ZAI=E 400,000& = 83 3,200
O2sH HEx2Zdo 249 600,000 = 23| 1,200
203 € R F & 3,000 3,000 0
03 AIEH =X H 2 F X Y| 3,000 3,000 0
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206 M = dl 2,400 3,000 A 600
01 X2 bl 2,400 3,000 A 600
OAIZ &Y ME 2218 29
600,000 = 43| 2,400
405 XHoHFE S HI 1,800 2,000 A 200
01 JHMY 2 EF S HI 1,000 1,000 0
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O SAFY 800
AL &Y &Y boom-up AFY 56,000 61,000 A5,000
201 2Et24Hy| 11,000 11,000 0
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03 A2 Z Hl 10,000 10,000 0
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10,000,000& * 14 10,000
307 gl2tol & 45,000 50,000 25,000
02 (It HAMHEE 45,000 50,000 25,000
OAZ HII L& boom-up At EHHXS 3
4,500,000& = 10€ 45,000
M2HAN FHREZIZHE ALY 223,200 154,600 68,600
= 124,000
< 29,760
Al 69,440
307 gl2tol & 223,200 154,600 68,600
= 124,000
< 29,760
Al 69,440
02 IZtEHAHE L 223,200 154,600 68,600
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= 124,000
< 29,760
Al 69,440
AMIEIY AZIEEZ K& 17,333 31,148 A 13,815
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< 1,300
Al 3,033
307 glz2+ol & 17,333 31,148 A 13,815
s 13,000
< 1,300
Al 3,033
02 HAFHAANGEEX 17,333 31,148 A 13,815
OAM3IEIY Atal2EE8 =2 X 17,333
s 13,000
< 1,300
Al 3,033
AN EIY AIZSSAY 30,000 0 30,000
= 21,000
Al 9,000
307 21201 A 30,000 0 30,000
= 21,000
Al 9,000
02 It S AIHE L 30,000 0 30,000
OMIAEIS ANZESAS 30,000
= 21,000
Al 9,000
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Os=2g4 M 2,000,000& = 53| 10,000
03 &AL2 I 1,000 0 1,000
OusZA=¢ 250,000& = 43| 1,000
301 LeHBAF 1,000 0 1,000
12 J|EtE4 = 1,000 0 1,000
OMEZH= 222 §1&% 50,0008 * 20A 1,000
SsH 2283t d4nH 19,000 0 19,000
201 LB-2dH| 16,000 0 16,000
01 At 2t 2l 3,000 0 3,000
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OgsJt UEKZMOo 24 500,000& * 23] 1,000
ootztdiol 299 8,000
301 LEXS 3,000 0 3,000
09 HALAHIXI &3 3,000 0 3,000
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0,000& = 23] = 3& » 10H 3,000
HY2HIH (LAl F =) 77,210 87,540 A 10,330
Jl= &l 77,210 87,540 A 10,330
JlE&l 77,210 87,540 A 10,330
201 £B-2dH| 34,070 31,440 2,630
01 At 22l 34,070 31,440 2,630
OJIZARES 2l 8,000
OSAII(EH) gtz 260,000& = 12JH& 3,120
O=SAI & ZHAZE 2| 5,000
OJIEt =&t 4,300
oozt & FTL2 R 4l
650,000& = 21H 13,650
202 4l 30,240 43,200 212,960
01 = LH YI 30,240 43,200 A 12,960
OJIegfF=8 0l 120,000& = 21 * 128 30,240
203 YR =&l 7,500 7,500 0
01 122 =4 3,300 3,300 0
OJl22g =28l 3,300
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